Tntegrated Algebra Jnit 1 Review Name:
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TopiC #1: Solving Equations:

Reminders:
Solve:
1. %(9x—6)=—-(x+1) 2. 2x5‘5+7=2
- ) = - —_
G -1 = TX A%-5 - -§
S

‘7){ :3
@\ P
l ;/x.— "o.lD

. /_\
— 2x _x-3 _4f\ :

S 4. 23475 (53-5) =—(14x=T)
4)(33(3(‘53 A% +F—5%x +5 :?X*“-\
by = 3x ~ A 2% 212 =2 BX-N

X =" B -\\x = -1k
' =\
X M
;'CL x 2 x :
5. Z—§=§+1:{ 6. Is -3 asolution of 2x+4:223
a(-3)+4 = 2
— = Ll' + \Z . ", €
Ix —% X -l 4 = A
X 74 ii{w

1of12



TOPIC #2: Solving [ iteral EGuations:

7. Solve] = 'PI‘C for P

\-“
. P )
rt ,
_

9 2X-3Y =15 fory

g 2 -

=
3

) AN /,/"/
———

11 Solve A=-- fory
xy

20f12

8. Solve A=—LV§H For W
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10. Solve Az-;—x(b+c) forc
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TOopiC #3: Inequalities
Important Rule :

S

Interval notation & graphs:

Compound Inequalities:

1. Solve. Graph. Write in interval hotation.

a) 3x—1>11 b) 4-x25 ) —3x<6 g 20 7.9
= | 2 3 ,
5X>L\ 4 25 +¥X ;)33 3x+ b g
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& TIs-3asolution of the inequality: -9<2x-3< 72
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Now, I give you the graph, you come up with the inequality. Write in interval notation.

(= o#-10) v (5, ) (“d’@ g\

Solve and graph each compound inequality. Write the solution in interval notation.
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TOPIC 4. Absolute Value Equations

~=. The absolute value of a number is always 1 ng i *’S\'e . The technical definition is the
from LOND)

-0 -8 -6 -4 -2 40 2 4

Therefore, ‘—2| = Q , and when |x| = 4 that means that x = L“ or ” L\ !

. . L] .
Because numbers inside the absolute value can be M or negative, we must account for two

separate cases. ! SQ‘ m \ S b
<

Example 1: |x+3|=8 Example 2: -3[2x —4| =12
Y¥3=28 ©r X¥d=-H lZX"”\' .q
%=S o X5l
\\ = nLq

x ) Can't |
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L

Example 3: %)@—14%6 Example 4: Ef_—ﬁl_2=5
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Topic 5: Absolute Value Inequalities

When solving absolute value , we create compound inequalities like the ones

we saw in the warmup. There are two distinct cases that cause the two cases: & .

CASE#1: |abs val|<# N 3P 4 4

e o

)
> M oo . LB

Solve and graph. Write solutions in set and interval notation
L | 80| ode  flup @

CASE#2:  |absval|># >

a) 2|x+8>6 b) |x—1-3<4 ,
|x+e| >3 alew
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Interval Noté!tign: Interval Notation:
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Additional Practice: @W

ﬁ-\
& I. Order of Operations: PEMDAS (without calculator)
6+ (-8—4) | ki d ek
1, ———" 2. 4z- =2, y=3,2=4 3. —2[3-(7-10)2
G Z-Y x=2,y=32 3-(7-10)’]
2 2
(9;,_,“"2‘ ("9-3 ¥ 3 “3(“;} - o
al &) - (4 - 3
R U SR B i

a1’ (s

II. Solve Equations: Backwards PEMDAS
&; 2 1\,
4.5(x+6) x—g * 5. 11-3(x+5)=3x+1

qy +SY = bx-2

\\-’5\(—\5 =3X‘H

1% = =156

x 7 -\
?.
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24. Solve the inequality to show who solved the problem correctly.
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Karla and Juan both solved the following problem:

You have added enough antifreeze to your car’s cooling system to lower the freezing point to -35°C and raise the
boiling point to 125°C. The coolant will remain a liquid as long as the temperature C (in degrees Celsius) satisfies
the inequality -35 < C < 125, Write the inequality in degrees Fahrenheit using the equation € = ;(F - 32)

Karla’s Work Juan’s Work

g
as5<c<12s ¢ 35<C<125 Vv
-35»:%(?-32}<115 v —35<-§{F~32}<12§ v

£3<F=32<225 v~ £3<F=32<225 v*

95« F< 257 [ 31<F<251
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